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Do not open this booklet until you are asked to do so.

el seanii o 2N1Q cai Yell wronyRarst vilad) aidl,

Read The Following Instructions Carefully
CibTil q-‘u-mﬁ EeTyds divl)

(1) Please write Sea B o+ @ZOLY ON answer
sheet (OMR Sheet) whlthc-ut fail
(anid e <oz, navsl sde dug A 329dl rausadl W A8 weL nadl ojg @R
»agy @vil.)

(2) Each question carries 2 marks. Wrong answer or more than one answer in
one question will carry 33% (1/3 Marks) negative marking.
(625 waell 2 3L B, w2l waus ual A5 i Ay s W2 33% Y= (1/3 Y1)
4SRRI Q2 4d 8.)

(3) You have to mark (@) the right alternative (A or B or C or D) for each question
in the answer sheet with Blue/Black ballpoint pen only.
(astd waadai €25 us wiz 0ou sl (A 284 B 2ua1 € #adu D) wis 53
siofljateell sdald-2 94 4} Rulad (@) 9.

(4) Rough work, if any; be done on the last blank page of Question Paper.
(A8 w8l %aq 2 sid wawetel vk A W L ¥ s W)

(5) In case of confusion in Gujarati Question, rely on English Question.
English text will be final.
(R yyudl wsui G dia dl e R Wl Aol af A+l 4 AU Umd).
sde ouw ez w2 aumdl amud.)
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1 Which of the following statement is right?
(A) Finance commission is a quasi-judicial body setup under Article 275

(B) Recommendations of the Finance Commission are binding on the
Government of India

(C) 14" Finance Commission recommended formula based conditional
transfer of money to states

(D) None of above
AA-uniell & R w3 & 7

(A) Rt 2002 2193e-275 vidold qepqami suda s wd-—uls
e B,

B) [ 2ol eEMel 3 GY o &y B,

(©) 14 [ e A Sefenru 2R GU W Al samRl
s 8.

(D) GuAsd sisue -

2 Which of the following statement(s) is/are correct about Governor of
a State ?

1.  Governor of Gujarat has certain discretionary powers with respect
to development of Saurashtra, Kutch and Dangs.

2.  Governor can promulgate ordinances without sanction of President.

3.  As per Constitution of India, each governor is assured of a term of

five years.
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) None of them

AL AaR i3l e Rl U8 sui wal 87

1. g, %9 21 ol Rusrud 2R1d AL AR J2dls Rasel-
Artd]) vyl »udd 8.

2. upulid Ak R, AR A s uk 8.

3 euadly sigerl Aeiadul qae, eis e YA -l yeasdl
widdl syl »ude 8.

(A) ™oL 1 24 2 (B) ™ 2 i1 3
(C) ™ 1 ¥4 3 @) =l U A% dl
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3 In Directive Principle of the State Policy of the Constitution, which of
the following s regarded as being based on Gandhian principles?

. To prohibit the consumption of intoxicating drinks and drugs which
are injurious to health

2. To organize agriculture and animal husbandry on modemn and
scientific lines,

(A) Only 1 ®B) Only 2
(C) 1 and 2 both (D) None of the above

MR SqRemi culde s-ARin welesds Rugldiaid sd/541 2Aidleo-
Rieidl Gu 2R 87

L. 38 IRl =1 aqraend) 454 5l 2l goll Gu Uiy,
2. YFs w1 Quifis ) Wdl w1 uyuen 2ufid 54,
(A) &5d 1 B) &5 2

(C) 1 = 2 o4 D) Gudsd ssvye B

4 Consider following statements :
(A) Once molded, Thermosetting plastics will not soften on heating.
(B) Bakelite and Melamine are examples of thermosetting plastics.

(C) Both (A) and (B) are correct
(D) Neither (A) nor (B) are correct

A Rl asRil
(A) Asar s dlu ul, Wil wiles 2R3 a1 wdl dg wid

-4,
B) WBaife v AAUS A WA wResi Gelsel B

(C) GuAsd (A) 2t (B) oA i 8.
(D) GuAsd (A) i (B) 4 “al 8.

4 PITIO'
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5  Consider following statements about GSAT-6 satellite launched by ISRO :
1. It was launched by GSLV-D6 rocket
2. GSAT-6 is a communication satellite

Correct statements are :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

S Gl BSUML »Udd GSAT-6 Guas wid, A0 P a5l -
I. A GSLV-D6 k2 gt Wlsami »dg

2. GSAT-6 ¥ JAR Hi2+) Gyas

it U4 wan R sui 97

(A) &5d 1 (B) #&5d 2

© 1= 244 @) Gudsa s wat s

6  Advance sunrise and delayed sunset found in the sky are due to the
phenomenon of -

(A) Diffraction of sunlight
(B) Refraction of sunlight
(C) Scattering of sunlight
(D) Total internal refraction of sunlight

S Nal HodL AR yled 2 RdMa yulka Fe-Ribiadidl 6
gariola Y iy 8 7

(A) ylusiad Rad-
B) ydusiag »uad-
€) ydusiad udel-

D) wlusiag el »lidRs uAdd-
P.T.0.
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7 Which of the following facts are correct about Mission Indradhanush ?
(A) The mission focuses on prevention of communicable diseases.
(B) The mission will try to reduce malnutrition among under 5 children.
(C) The mission for special treatment of blind children
(D) The mission for expanding immunization for children.
Brairt Smiqua @orar A0 Rl sy 2 B 7
(A) 2 B Y o)A Asar S Q] KAl 203 8,
(B) 2 Bud 5 quell -l sunAML gOMRL 2sid w2 ag sy 9.
(©) »it A Wit ARAR W2 v M ug s 8.

D) suadeii wlswel RadiR 5al 42 w0 B Ag R 209 8.

8  Consider following statements about blood :

1. Red blood cells carry oxygen.

2.  White blood cells fight infection.
3.  Platelets stop bleeding in injuries.
Correct Statements are :

(A) 1 and 2 (B) 1,2 and 3
(C) 2 and 3 (D) Only 3
e RN A0 Rl dwsd

1. ad Wd Ausizl weyd aed 2 8,

2. Ad Wd ARl Y wd Q@ B,

3. W ASLS) 6% UM WdAA oY 8 B,

2t Q4 AL sl sul 8 7

(A) 1 %4 2 B) 1,223
(C) 2 2 3 D) A 3
CSSC-GS-1-PKL-2015_C 6 p_']‘_o>
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9  Find incorrect Match of Deficiency vs. Disease.
(A) Protein : Marasmus
(B) Vitamin D : Rickets
(C) Vitamin C : Scurvey
(D) Vitamin B, : Beri Beri
il Glen R Ao Rl & g vl 87
(A) U : suaay
B) [RabBit 4 : ysain
(C) HalBiq Al : ]
D) [l o, : ad a4

10  Which of the following spices is obtained from flower bud ?
(A) Clove (B) Cumin
(C) Cardamom (D) Coriander
waigl s Huel ga-dl sollaill wa 87
(A) @l (B) @
©) deawdl (D) weu

11  Which of the following state is Organic State of India ?

(A) Arunachal Pradesh B) Sikkim
(C) Assam | (D) Maharashtra
alaniell 8 A Mra-l WA w2 add slamn 87
(A) ReUAE U2 - B) Rilsv
| (C) A (D) ™8RR
CSSC-GS-I-PKL-2015_C 7 P.T.0.

Scanned by CamScanner



12

Which of the following disease is/are transmitted by water ?
L. Typhoid

2. Hepatitis A
3. Filariasis
(A) Only 1 (B) 1 and 2
(C) 1 and 3 (D) All of the above
T wlar Aol s wiell g ey B7
1. adass
2. squ)
3. wiflya)
(A) &s5d 1 (B) 1 x4 2
€ 1243 (D) Gudsd o4l %
13 Which among the following states was the first to install earthquake early
warning system?
(A) Uttarakhand (B) Maharashtra
(C) Himachal Pradesh (D) Uttar Pradesh
Al s uodl A wan opgy 2 addl Aaqell suudl Birew goudl
87
(A) Gruvis (B) HaRR
(C) [RBuRdg ey (D) Gur uq
14 Which of the following spacecraft became the first to visit PLUTO 2
(A) Curiosity (B) New Horizons
(C) Opportunity (D) Sojourner
A2 A4 A uan Gal 15 udAR AaswAA & D7
(A) SR04 ®) 4 duss
(©) 04 D) AR
CSSC-GS-1-PKL-2015_ C 8 P.T.O.
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15 Which of the following countries have adopted Gross National Happiness
Index as an index of well being of its citizens?

{A} India {‘B) Bhutan
(C) Nepal (D) Sri Lanka

(Al s 22 0 Aeite A wiis Aot AR AL Yousidl dai-u
WNES ddly vyl 87

(A) ™Id (B) ofdiq
(C) Awun (D) slldst

16  Electric appliance have star ratings (up to 5). More stars in rating implies -
1. Longer life of an appliance
2.  More stringent quality checks
3. Energy efficiency
4.  Longer warranty period
Which ;:rf the above is/are correct ?
(A) Only 1 (B) 2and 4
(C) 1 and 4 (D) Only 3
SasAls Guseedui (5 ydl) R At wd B. ay @R WA 224 -

1. Guseldl @a- »al ay & 8.

2. elaridi wRAE) 4y & 8.
3. Gl ead
4, diol q13d u44

LA-uiell 2i/sui Rad w8 7

(A) &5 1 B) 21 4
C€) 14 D) &t 3
9 [rT.O.
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17 Who is the author of “Gita Rahasya™ 7

A ;
(A) Swami Vivekanand (B) Mahatma Gandhi

C) B
(C©) Bal Gangadhar Tilak (D) C. Rajgopalachari
Al gy’ dus fg @ ?

(A) @l s (B)

L TG TREC |

©) sua oouyy [es D) Al wrslwadl
18 Which of the following is not a connective tissue ?

(A) Blood (B) Bone

(C) Muscles (D) None of the above

TAie] 6 wxlors Yo ) ?

(A) &dl (B) s34

(C) uyai (D) Gwlsd »is yer -

19  Consider the following statements -

. ‘The Rajiv Gandhi Khel Ratna’ is India’s highest honour given for
achievement in sports.

2. Recently, Sania Mirza received this award.

Correct statements are :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above
AAi a5

. U Al Waet YRR 2l ™A A AL viad) o)
udla YR 8,

2. il Wb Bold v YR vidnd Al we)) 8.

2y U4 AR R sui @ 7

(A) &5d 1 (B) &5d 2
(C) 1 21 2 o (D) GuAsd s va s
CSSC-GS-1-PKL-2015_C 10 P.T.0.
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20 Consider following statements about Nirbhay Missile °
I Itis a surface to air missile developed by DRDO.
2. It can carry both conventional and nuclear explosives.
3. It is a subsonic missile.
Which of the above statements are correct?
(A) Only 1 and 2
(B) Only 2 and 3
(C) Only 1 and 3
(D) All of above
Fiofy Braude >0 A0 sl awa -

1. DRDO gt FB{d 241 215 onfl4el sl war 53 asdl Maude &

2. i Maudd YA A YRy Ay o usi Rl ad oS
u 8.

3. il s wolMs Brudy 8.
Gusd U4 sui R wal 87
(A) M2 1 ¥4 2

(B) M2 2 w4 3

(C) ™2t 1 4 3

D) Gusd oL %

[PT.0.
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21  Which of the following statements are correct ?

1. Major hot deserts of the world are located on Eastern coasts of the

continents.
2. Great Australian desert is the second largest desert after Sahara desert.
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

M) g R g @ ?

L gleut et o oy 2esRe A videw ydld de W wda 8.
2. A2 WPRiu 2@ A werL ylg ol Aell qig 281 8.

(A) &5 1 (B) &5d 2

C) 1 2 2 oy D) »lsuel ARk .

22  Assertion (A) : Newfoundland experiences more drizzle than any part of
the world.

Reason (R) : In Newfoundland, warm gulf stream meets with cold
Labrador current.

(A) Both (A) and (R) are correct, and (R) explains (A)

(B) Both (A) and (R) are correct, but (R) doesn’t explain (A)
(C) Only (A) is correct and (R) is wrong

(D) Only (R) is correct and (A) is wrong

gldl (3) @ Y-516-3a-31 gl 6 vl oaL 52l a4 MR A30E R
ya 8,

af (22) ¢ -3-&1(3-:5&@1, AWM 9Aes Nl B AR 8 iy 3a B
(A) (@) 22 (3uR) 6 WA B, A (2R) A (B) Y wned B
@) () 21 (@wR) 63 w8, v @uR) A (A) A wneag .

€) &5d () AR & A (AR) g 8.

D) &5 (auR) w3 B »A (3A) g 8.
CSSC-GS-1-PKL-2015_C 12 PT. 0>
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23  Which of the following statement is incorrect?

(A) All the cyclones,

anti o i
TrnpOSPhere only. oS, i kel PEvRRAton s i

(B) Tonosphere is the uppermost layer of atmosphere,

(C) In Stratosphere, airflow 18 mainly horizontal,
(D) None of above

Mol 8y R Wig & ?

(A) gis AU, WA Asaud, VAN, At R g5 Aopitanl ¥ o

B) -tisa A quiei Dl Gud 2z B.

©) Widisal sl Ak youd w0l Qami du B,
(D) Gua-u AQ Asye s

24  Which of the following rivers do not reach the sea directly?

1. Luni

2. Banas

3. Ghaggar

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

AA-uniefl 5§ €l eRud wadl «dl ?

1. gell

2. o

3. HR

(A) &5d 1 212 (B) &5d 2 A 3

(C) & 1 21 3 M 1,23 |
CSSC-GS-I-PKL-2015_C 13 [PT.O.
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25 Which of the following statements are correct”

! Indian climate is affected by only one seasonal wind 1€ South west
monsoon

2 South west monsoon wind blows through Indian Ocean. Arabian Sea
and Bay of Bengal

(A) Only | (B) Only 2

(C) Both I and 2 (D) Neither 1 nor 2

MAuniel 2 Ry g 8 7?

o MRl waay 3 gsd ele iy A waqll weuRa w3
2. el wDey Qe vad R qeer, sl g = s

il qiy &,
(A) &5d 1 (B) &5d 2
(C) 1 34 2 oy (D) sy R

26  Which of the following statements are correct about Indian waterways

1. Under 7% Schedule, Parliament alone can to enact laws on navigation
of national waterways

2. Under T schedule, State is empowered to levy taxes on use of inland
waterways

3. WAPCOS - a public sector enterprise is responsible for construction
and maintenance of national waterways

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) Al of them
ol wamelt @ddl A sl Rl wal 8 7

1l vyl weugl, s5d dde ¥ UMY el Gy siuel seudl

W 8.

2. ]l gl WR, A AR 2AidRs ¥l 6w s wndl wd
8.

3 WAPCOS - ¥ UMY wawel s-ugal s drdsua MRy Mid

asig (o 8.

(A) &5d 1 i 2 (B) 85d 2 ¥4 3
(C) &5d 1 ¥ 3 ) 1,23
14 P.T.0.
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18

29

Which of the following statement about our national fruit Mango is wrong”
1 It is cultivated in almost all over India except hilly areas.

2. It is a rich source of Vitamin A, C and D

(A) Only | (B) Only 2

(C) Both | and 2 (D) Neither 1 nor 2

siuel UlY 6 34 RN ADdq &y R W 8 7

. A sdet 2sRwa R R @tett sl o Gousadi »ud 8.
2. 4 RalM4 A, C %A D Al 0 AWd B.

(A) &5 1 (B) &5 2

(C) 1 ¥4 2 o~ (D) sisuw e

Mithivirdi, recently in the news for nuclear power plant, is situated in
which district ?

(A) Junagadh (B) Bhavnagar

(C) Gir Somnath (D) Amreli

agues 2 AR addil 2Alg 8 a4 su Prearti 2149 8 7
(A) LU (B) SuatR

(C) A=A (D) =M3dl

Which of the following district is not bordering Maharashtra ?
(A) Chhota Udaipur (B) Narmada

(C) Surat (D) Tapi

gorudr 54 Breardl dde e AR Aaddl ol

(A) ®la GeyR (B) el

€) ¥ D) vl

CSSC-GS-1-PKL-2015_C 15
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30 Arrange the following in decreasing order according t0 thei

1. Biome

2 Population

3. Community

4.  Biosphere

(A) Biome, Biosphere, Population, Community
(B) Biosphere, Biome, Population, Community
(C) Biome, Biosphere, Community, Population
(D) Biosphere, Biome, Community, Population
R 2umR Glarar swul 2Nsa.

1. euyly

2. Wwdu-
3. sy[Ma
4. ouyRélNR

(A) o, oulaslyr, diwydad, syMd
(B) olRgluR, sudld, \wydun, Ay
(C) oudld, AdRelr, A, \wdau-
(D) oG, oM, yHA, Nwdyqd

31 Which of the following sanctuary in Gujarat is the natural habitat of
the Bear?

1.  Shoolpaneshwar wildlife sanctuary
2.  Ratanamahal wildlife sanctuary

(A) Only 1 (B) Only 2

(C) Both of the above (D) Neither (1) nor @)
Aarid-il Ul AMURIL ey AL 49 87

1. QaWSIHR 449 AMYIREY

2. AMSIE 1UDD SOYIRRY

(A) &% 1 (B) &5 2
(€) 1 2 2 8 D) ol Asye
CSSC-GS-1-PKL-2015_C 16
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32 Which of the following is/are Rabi crops?

(A) Mustard (B) Gram

(L) Rice - (D) (A) and (B) both
MAniell sysu1 2l wis B2

(A) 9 (B) ARl

€) R (D) (A) 21 (B) o

33  Which of the following region is not a Petroleum reserve?
. Gandhar region of Gujarat
2. Bombay High
3. Krishna Godavari Basin
(A) Only 1 B) 1 and 3
(C) 1and 2 (D) None of the above
AA-etiefl 5y A VARan cisr 417
1. deRidd AR &t

2. oy &

3. Beu-oleqdl dfux

(A) &5d 1 B) 1 2+ 3

(C) 1 2 2 D) GuAsayidl 86 <8

34 Consider the following statements :
1.  Gujarat produces highest fluorspar in India.
2. Chhota Udaipur district has highest deposit of fluorspar in India.
Which statement(s) is/are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above

(AL R AR ¢
1. ouql sy Al Q4R BAued s AN Awud B,

2 ouzdi sl Wl NA olir Bla Gy Prearl 2ddl 8.
Q- Rl sl RaeyRadd agRual 87

(A) &5 1 (B) &5d 2
(C) 1 a4 2 8 (D) oAl wAsusL s
CSSC-GS-1-PKL-2015_C 17 [P.T.O.
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35 Consider the following statements : _
1. Charotar region of Gujarat is made up of loess type oFsoAl
2. Charotar region is famous for tobacco cultivation.

Which statement(s) is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above
AL Rl s

1. 9ody AR Ao AR wsi+l yeid ag 8.

2. AAdR A arigdl Adl w2 weud B,

DA el sfsui RrasyReed w87

(A) &5d 1 (B) &5d 2

(C) 1 %1 2 61 (D) oA il AAsuet s

36 In which of the following state/states cold desert of India is situated?
(A) Jammu and Kashmir (B) Uttarakhand

(C) Himachal pradesh (D) (A) and (C) both
Al 20 Uil ol &§ WL g & ?

(A) %4 21 s8R (B) Guuis

(C) [Bwad ey D) (A) 2 (C) 6

37 Which of the following facts is/are correct about Aravalli hills ?
(A) Aravalli hills are one of the oldest mountains of the world,
(B) They are block mountains,

(C) Both (A) and (B)

(D) None of the above

eIl udarau @t Qdu 0 R ey § 2

(A) @Raedld udara g Dl ol udasyounio) 25 B,

B) wacedll wsldl A qRid ydd 8.

(C) (A) @ (B) 8iA

(D) GuAsd s w8
CSSC-GS-1-PKL-2015 C 18
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38 Which of the following port of Gujarat is not an all-weather port?

(A) Navlakhi (B) Kandla
(C) Okha (D) Veraval
AA-unisll yorudd 83 sier B suaull <ol ?
(A) =aavl (B) hsal

(© > (D) Auaa

39 Find the pair incorrectly matched :
1.  Viticulture : cultivation of grapes
2. Sericulture : commercial cultivation of silk.
3.  Pisciculture : growing of vegetables, fruits and flowers
(A) 1 and 2 B) 2 and 3
(C) Only 3 (D) None of the above
Dl W Neg DA :
1 ddser : s widl
2 Adlser : el uidl
3 lls@r : wseuw, &0l A gl dl
(A) 132 B) 2 ¥ 3
(C) &5 3 (D) GuAsd sy -8

40 Which of the following species is not found in moist deciduous forest ?

(A) Khair (B) Teak

(C) Sal (D)  Shisham'’

g W -l &8 Wl AL Hadl

(A) "R ®) As

(C) w4 D) lan
CSSC-GS-I-PKL-2015_C 19 [P.T.0.
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interaction of species in

. the
41 One of the following terms refers to er does not benefit

environment, where one species benefits and the oth
or is harmed is called -
(A) MUTUALISM (B) COMMENSALISM

(C) PARASITISM (D) AMENSALISM

NulaRRrHl & Wkt 42 i s e Bl AvlaL, B WRAMRS AKY
% i s wnfA 60l wu B w oflw wARA AL RS el wu B 3
U A qauA. A YRMRS YA § sdad B ?

(A) Wl B) uselll¥dl
(C) yAuma+ D) ulamwa-

42  Which are the reasons of coral bleaching ?
1. Increased water temperature.
2. Increased in salinity of water.
3. Increased sedimentation.
(A) Only 3 B) 1 and 3
© 1,273 (D) None of the above
g4 SRR SlRa(nae) selRia w2 wawier & ?
. well-i du-di quidd,
2. weldl daqmdMi qua.
3. ddAE-AL NMRML a4,
(A) &5d 3 B) 1 24 3
©) 1, 2,3 D) Gur-unidl 2Asye «fs

43 Consider following statements about Great Indian Bustard -
1. In Gujarat, the Great Indian Bustard is found in Kutch.
2. This bird is in the IUCN red list category.
Correct Statements are:
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above
ofRdl Qs @dl A4l R asa)
. yoriddl MiRdly €lg suomi A 39 B

2. w4l TUCN - 3% (e 32odlyi 2ud ).
AR Ryl 245

(A) &5d 1 (B) &5 2
(C) 1 34 2 64 D) GuAiefl HAsye «fy
CSSC-GS-I-PKL-2015_C 20 PTO
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44 Consider following statements :

1 Nal Sarovar situated largely in Surendranagar district of Gujarat is
one of the Ramsar site of india.

2 Ramsar Convention is the Convention on wetlands of International
importance.

Which of the above facts are correct ?

(A) Only 1 (B) Only 2

(C) 1 and 2 (D) None of the Above
A0 Rl sl -

1 doRidel Yimsoir Preanil »ide a0 AR 2 MRd-dl WA
As2Ai] s B,

2 UNAR s B widudy 0 derai 2478 W2y s-d-ud B,
Gut Rw-daiel & e & 7
(A) &5 1 B) &5 2

(C) 1 24 2 64 (D) Guidl el -

45 Consider the following statements regarding Biosphere reserves.
1. Little Rann of Kachchh is the only biosphere reserve of Gujarat.
2. This reserve also covers “Banni grassland”.
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above
odluy RadA @drdl LA [Aadl asri
1. s%d iy W A YA s M oprirélz Rad 8.
2. o R sl Wi uRL AR 8,

(A) &% 1 (B) #&5d 2
(C) 1 A 2 81 (D) Guanidl sye R
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46 Which of the following pair of “Founder : organization is incorrect?

(A) Justice M. G Ranade : Prathana Samaj

(B) Madam H. P. Blavatsky : Theosophical society
(C) Henry Vivian Derozio : Young Bengal Movement
(D) Gopal Krishna Gokhale : Servants of India society
il sy Agg Wi & ?

(A) oRey A, @, 4R ¢ wed- Wy

(B) A Y. I, sqiudl : dlaNlse Nyl
(C) &l QR 2wl : 4o doue yad-2

(D) e gel Nud : yd-gd 2l SFsul A

47 Consider following statements about Ilbert Bill :
1. It was tabled during the times of Lord Lytton.
2. It meant to prohibit Indians from bearing arms.
Which of them are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
dasd Prad @l 1A R sl

Lo d @ dleu 3l @il »uej of.

2. Rl PRl Al YR uReiY Yo wE @rqqu W gq
ARl Ry sui 8 ?

(A) &5d 1 (B) &5d 2
(C) 1 > 2 o4 (D) el Asyg s
CSSC-GS-I-PKL-2015_C 22

P.T.O.

Scanned by CamScanner




48  Which of the following statement(s) is/are incorrect about INA?

1. Indian National Army (INA) had three brigades named after Gandhi,
Nehru and Tagore.

2. INA was defeated by the British at Kohima.

3. The trial of INA in Delhi is also known as “the Red Fort Trial”.

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 D) 1, 2 and 3

INA A @ddl (A0 su1 Qe el 8 ?

Loooidly sy lenti e Bidls 2], A = 200 4R ol
. BuRudaA INA A Al ¢dd,

3.0 ¥R ‘ad Beed X adly wal lovanit wd 8.

(A) &5d 1 w4 2 (B) &5d 2 ¥ 3

(C) &5d 1 2 3 M 1,2 3

49  Which of the following statement is/are correct about Dadabhai Navroji?
I. British Government had appointed Welby Commission to enquire into
Dadabhai’s “Drain of wealth” theory
2.  Dadabhai was the first Indian to become a member of British House
of Lords.

(A) Only 1 (B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct
slelels A9 @dldl 13- s Rausdl w8 ?

1. [l usd ceeus gl ‘a--l Fsll’ fudld awar dell

B e-ude,

2. sl 1adw By $16y >l dlRi-u ey sk Amud MR
Sl

(A) &% 1 (B) #5d 2

(C) 1 2 2 oA WAl D) wsye W -l

50 Among the given events, which one occurred the last?
(A) Release of Nehru report
(B) Formation of Swaraj Party
(C) Poona Pact
(D) Arrival of Simon Commission
QAeniiel sl waiol Al vl 2l 8 7
(A) g RUEL Mgt
@) @Ay Wl -

(C) Yt RR
(D) ArMe sBad 2
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51 Lord Ripon is considered as one of the most popular viceroys sem

India because

1. He repealed the Vernacular Press Act.

2. He introduced Local self-government in India.

3. He was responsible for rendition of Mysore to its Hindu ruler.
Correct statements are -

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

Af urt A orani wdel el Qs AL A5 e, 9 3

L. ddd adlgar S siwel -uoe 4l adl,
2. A @R eiRddL 2y Wik el wudl sdl.
3. dalal AR weA AW [ A wrd Al €Y ed.

Al Ru 8 -
(A) &5 1 A 2 B) &5d 2 ¥ 3
(C) &5¢ 1 ¥ 3 D 1, 2,3

52 In Gandhara school of Art

1.  The artists mould human body in a realistic manner with minute
attention to muscles, moustaches and hairs.

2. Main theme in Gandhara art is Hinyana Buddhism,

3.  Peshawar region is the home of Gandhara school of Art.
Correct statements are -

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

MR sal wousl Asol,

1 sesiR Y[R 2Adl sl 33 B % ye), Y A Qs e
Meiaeoyl s 2y B,

2. OUMR sal WMl dluq offesd Yy Ry ed)
3. Qe A AMR sdl wag 3w .

Al R 8 -

(A) &5d 1 29 2 (B) &d 2 »q 3

(C) &d 1 %1 3 D 1,2, 3
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33 Which of the following pairs is/are correct?
1. Balban : Introduced Nauroz festival in India

2. Firoz Shah Tughlaq : Introduced irrigation tax
3. Ttutmish : Introduced Silver Tanka coins

e Correct statements are -
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them

Aol 2] Reeysa Rus w8 7

1. teor : -qRul ddaix siva sl

2. [B% we duas : R s ae

3. Oegell ¢ Aidlu Russt eiva sl

ARl R 8 -

(A) &5d 1 a4 2 (B) &5d 2 w4 3
(C) &4 1 24 3 D 1,23

54 In the land revenue system of Delhi Sultanate:

1. Inam land was assigned to officials as payment for their services.
4 2 Khalsa land was under direct control of the Sultan.
11- Correct statements are :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct

Redl dedriddl 2l 52 MUl H¥A -

1 wfsdadd aued Aa e S el uuaei suadl.

7 wadl ol 3 Yadtll Aldl Ml edl.

s WA R 8 7
(A) &5 1 (B) &5d 2
(€) 1 24 2 6iq (D) As y2 -l
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55 Find correct statement about our National anthem “Jan Gana

: r, it
1. The playing time of our national anthem is 52 secands,. how;:io l::
shorter version can be played in 20 seconds on certain 0 ;

2. Our National anthem contains 5 stanzas.
Correct statements are:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct
ANRL UM S ‘ot dle wee dsolil A sl Rl A 8 ?

Lo v udly oflad suai-d amy 52 A5 8, A 3 a-dl -udl 2ugk
20 Ass W2 S us B,

2. AUy oflaxdi 5 s B,

s R w8 7

(A) &5 1 (B) &5d 2

(C) 1 2 2 oiq (D) s yot -l

56  Which of the following statements are correct about Dharasana Satyagraha ?
1. In British era, Dharasana was in Surat district
2. For breaking the salt law here, Gandhi was sent to Yerwada Jail.
3. Sarojini Naidu and Abbas Taiyabji had participated in this Satyagraha.
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
HARRU A @l DA g R Wi B ?
L Bufee sl @ a1 B wnuell Y Peeyay) Blag g

2. ¥, lsirdl M€l dlsal e dfilopd) AN Bl 4 oqui oy
dcl.

3.0 L AcUASHL AAPY Ay w1 ooy o) oy dlQl s,

(A) §5d 1 3 2 . (B) &5 2 w3 3
(C) &5d 1 ¥ 3 M) 1, 2,3
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57  Consider following statements about Kheda Satyagraha.

1. In Kheda, the crops were destroyed because of heavy rainfall yet,
the British government was unwilling to give relief in revenue.

2. j'v'atlabh Bhai Patel was given the title of “SARDAR” for participation
in Kheda Satyagraha

Correct statements are:

(A) Only 1 B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct
Wil Aeuse deolul A4 R s,

L. el wilgfe gauql 8 wis 4auq 2 dlat odi, Bilea asi
52 8L AL QUi 4 edl.

2. qediMlS w2 Wil AASHL el dal ded ‘UreR'qd Bie
NN Y 8.

s -l e 8 ?

(A) &%d 1 (B) &5 2

(C) 1 - 2 64 (D) oAl visuel s

58 Consider following statement(s) is/are about Borsad Satyagrah.

1. In Borsad, British had imposed additional tax, for deploying additional
police force to fight against bandits.

: 2. After Sardar Patel’s Satyagraha, the home minister of Bombay
abolished this tax.

’ Correct statements are:
(A) Only 1 (B) Only 2
(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct
e dcden @odl 1A Rl asril.

1 By s g oledl A-gerlzl wA A W2 QR R
Arart suedl sdl.

7. WRER UBE-il AnS oot g WAl SR oe sl g,

syl Qg w8 7

(A) &5d 1 (B) &5d 2
© 1 #3284 D) s ua R
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59  Which of the following texts of Ancient Indian Philosophy mentions Atomic

theory ?
(A) Sankhya Shashtra (B) Purvamimansa
(C) Vaisheshika (D) Uttaramimansa

LAl s Al oRdly e wasigaue 20l adl ?
(A) WY uRey ®) yd{liau

(C) ddlus (D) Guwllaiau

60 Which of the following facts are correct about our Freedom struggle ?

1.  Bhagat Singh and Batukeshwar Dutt threw a bomb in central
legislative assembly against the passage of Public Safety bill and
Trade Dispute bill.

2. Bhagat singh, Azad and Rajguru shot dead Saunders, a police officer
responsible for lathi charge in Lahore.

(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above

ddaAdl AnHA @dnal AA s Raed 2wl 8 ?

1. odRie 2 4ghuR ed WARS YA SME WA 33 Jwye Riasy
RAul 3y wReuml ooy 320 ed).

2. cdR @wdlud 2 yaser Nl AR AR ooralie s
2 uRA ANl Wl eaun 53 edl,

(A) §5d 1 (B) &5d 2

(€) 1 @1 2 64 | D) GuRsd AAsywl AR
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61  Which of the following statement(s) is/are correct ?

L Champlner-l’wagadh archeological park of Gujarat is one of the
UNESCO world heritage sites of India.

2. Adalaj Step well was built by Muslim king Mohammed Begda for
queen Rani Roopba.

(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above
Al sy R Wzl B ?

. rided Aiwd-wape sufloddlise wh A Mrad yRé ad
ey weuiq AAs 8.

2. waeHl Qi 3 s yRay U Héns A URD o e CEICCR

(A) &5 1 (B) #&5d 2
(C) 1 ¥4 2 84 (D) Gudsd 2sus B

62 Which of the following is correct about “jaziya” tax during Mughal era ?
(A) Land tax (B) Irmgation tax
(C) A tax on Non-Muslim (D) Entry tax
yug AUl @uaal suadl ‘el du w2 Adrumiell & 0y 8 ?

(A) ot K @) Riud KR
(C) A-yRam G 52 (D) %4Y
63 Din-e-llahi

1 It means divine monotheism or the religion of one god.
2 A religious path laid down by Bahadur Shah Zafar.
(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above

R+ »i-Oaidl
Il Mdae dFMRAUE AU SPRCECICCIR TR
2 g2 2awidd ubls vu.

1.
2. Gelg W BF

(A) &5d 1 (B) &5d 2
(©) 127 2 8 D) Gudsd AsueL R
29 [PT.0.
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64 Consider following statements about Mudra Bank :

1. It is meant to provide refinancing to all the last mile Non banking
financial companies that lend to micro/small business enterprises.

2. It has launched three loan products Shishu, Kishor and Tarun for
helping micro entrepreneurs.

Correct statements are

(A) Only 1 (B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct
Yo A @l (A4 Red s

Lo Al you wuay - 04 A-uRue fu-d 3 320 Y w ay
Gelelll el 2l B A Agl-ulRiol sq1 Wzl 8.

2. Ael gt g, B A dvel el o8l @l Mlsse U SRAPL AL

8.
WAl Ru- 8 -
(A) &5d 1 (B) &5d 2
(C) 1 24 2 84 (D) ¥s e <

65 Find correct pair of initiative vs. organization.
1. MCA-21 : Corporate Affairs ministry
2. SEVOTTAM : Department of Administrative reforms
3. Project Arrow : Indian Post
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
QAntiel wiotsdl R ot wall ANs DL
1. MCA-21 : SR2 sy anay
2. Addd vl YRl Rewt

3. W% A elrdly 2y vug

(A) &5d 1 »iA 2 (B) &5d 2 ¥4 3
(C) 851 1 ¥4 3 D) 1, 2,3
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66  Based on which of the following parameters of Gadgil-Mukharjee formula,

was central plan assistance provided to states?
Population

1

2. Per capita income
3. Tax effort
4
5.

Irrigation and power projects

Special problems
(A) Only 1, 3 and 5 (B) Only 1, 2, 4 and 5
(C) Only 1, 2 and 3 (D) All of them

Uelle-yorw ofal i s WA MR DU A A
AAdl Al gD 1A yoo, et ?

1. axdl

2. YBddls wqs

3. Adl 50 -uwmal

4. R 29 waz DFse

5. wi yadla

(A) 854 1,3 %1 5 B) & 1,2, 4315
(C) &5d 1, 2 ¥4 3 (D) GuAsd &4l

67 Find correct statement about National Food Security Act:

1. It was passed by parliament in 2011

2.  Except North East and BIMARU states, all states have notified and
implemented this act.

3. Under this act, poorest of the poor households are eligible to get
45 kilos of food grain per month.

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) None of them

Al v e sel B s Rl aRi o

| d e gL 2011 Ml WRd LA a4,

oz Al 2 Gt ydeit Rl R s A il SUELR N
2l ane »vadl 3 8.

ait sl oot adelt A &R WA 45 Bl waadl YR
wyal wudl 8.

(A) &5d 1 27 2 (B) &5d 2 ¥+ 3
(C) &5 1 213 (D) GuAsd 215 yoL R
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63

69

Consider following statements about Price Stabilization Fund (PSF). |

1. It aims to provide interest free loans to States/UT and Central agencies
for procurement of agriculture commeodities. ‘

2. In the Initial phase, it’ll only focus on stabilizing the prices of onions,
tomatoes and potatoes.

Find correct statements -

(A) Only 1 (B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct

W Refladdu- §47 @dtdl Rl skl

Lo %L 48 wrfig wlid 32 Aue 2R A=l sf el vleal
W2 eny-aoRRl dl- wyal M2 o-ide B, _

2. uFBUd- UMM B &8 o], a2l QM sl2usiel S BRI
alqal s s,

s R fyHd 8 7

(A) &5d 1 (B) &5d 2

(€) 1 %A 2 44 (D) Gudsd visue AR

Find incorrect statement :

1. India has full convertibility of rupee on current account but not on
capital account.

2. 8. Tarapore Committee had recommended the Finance ministry not
to pursue full capital account convertibility.

3. If full current account convertibility is permitted, it could destabilize
an economy due to massive capital flows in and out of the country,

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) None of them
w2l [yl AsR)

1. Ryl g vudt w2 yel uRadslld 8, yig Yoo wiq w yel
yRad-dladidl yadd -l

2. . aRR SMAS A e B e duead yel je wigd
yel uRad-alledl dag- wql dee dare 3 edl,

3. ot ysl g vididl el wRadelladt @2 s2ami »0d o) )2 yayep
jo uadil vddad »Ruz 59 24,

(A) &5d 1 i1 2 (B) &54 2 ¥iA 3
(C) 851 1 24 3 (D) GuAsd w5 ye -
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70 Which of the following statements are correct about AIIB (Asian

Infrastructural Investment bank) ?

1. The Headquarter of AIIB is situated in Beijing.

2. K. V. Kamath is the firgt president of AIIB.

(C) Both 1 and 2 (D) Neither 1 or 2

AHB@(?.&[‘H SreiRpsar S-deede ofs) QA »ulal Rl su/sy
A 7

1. AlIBY a§ “us d@omi »udg 8.
2. 3.4LsMU AIIB-L wuy g 9.
(A) &5d 1 _ (B) &5d 2

(© 121 26 ®) il s veL AR

71 Which of the following industries require compulsory licensing?
1. Alcohol and tobacco
2. Gun powder and dangerous chemicals
3 Defense and aerospace electronics
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
DAl s Gelodai g -l 3 W 8 7

1. weddld s dilg
2. a3l 2 %S el

3. el @A AR $dsAMs

(A) g5d 1 2 2 (B) &5d 2 @1 3

(C) &5d 1 2 3 D) BGuAs w5 el -8
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72 Which of the following index is not prepared by Central Statistical
Organization (CSQ)?

(A) WPI (B) CPI
(C) mp (D) GDP
58§38 CSO gt duiR sail suadl -l ?
(A) WPI (B) CPI
(©) TP (D) GDP

73 Find the incorrect pair.
|. Economic Survey : RBI
2. World Economic Outlook : World Bank

(A) Only 1 (B) Only 2
(C) Both I and 2 (D) Neither 1 nor 2
wlg g aly) :

L 2ulls udaw : Rod o5 »)ls SBwu

2. qed SAABs duBegys : aed os

(A) s5d 1 (B) &5 2

(C) 1 a4 2 o4 (D) - il 2sye AR

74  Find incorrect statement about Beti Bachao, Beti Padhao Abhiyan.
(A) It was launched in 2015, from Panipat in Haryana.

(B) It provides for a task force under supervision of District Social
Welfare officer.

(C) A village adopting an innovative method to improve sex ratio, will
be given a prize of Rs.1 crore.

(D) None of above
42 sl 42 vatdl R @adl QA s R Wz @ ?
(A) -t 2015 i wellud, sRuRul uagd S »ud] &

(B) Rt vicdld Brean vuy seus RN 2udu Q3 2126 gl
AAUS B

©) % 2ung [Pl wguianl Adl4 uglit 2419 AN Bg 53, Yl Sy
UL 2194,

D) GuASd s veL -
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| 75 For the current fiscal vear, which of the following provides highest interest
rate annually?

(A) Kisan Vikas Patra

(B) Employees Provident Fund

(C) National Savings Certificate

(D) Sukanya Samriddhi Yojana

UG At W2, 3l s el ay afls ouxr 2 2l B 7
(A) DBRu Rsm yay @) sladl el G

©) Ugd sad wEHe D) s wyle -

76 Under Atal pension Yojana

(A) Government will co-contribute equal amount in account of all persons
except Income tax payers.

(B) This scheme will be implemented via a joint venture of ESIC and
EPFO.

(C) Both (A) and (B) are correct
(D) Both (A) and (B) are wrong

wed U Y- widold

(A) s Ysadl ABdx)l Ran-i dii- As-2ii dwsRr Al

oe(lerdl-l 2w 3.
B) @il d¥ua ESIC »it EPFO-UL AYsd Gaxdl »naMl suad.
(C) Gudsd (A) 21 (B) ol WAl 8.
(D) GuAsd (A) 2 (B) ofx vlal 8.

77 India receives highest FDI from which of the following country?

(A) Japan (B) USA

(C) Singapore (D) Mauritius

Qi sa sadidl tikd Al aud FDI Aad & ?

(A) ot (B) Y.%l.%l.

(C) Riduy: D) “RRxA
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78 Amrut Mahotsav of Indian Independence in 2022 aims for which of
the following?

1. Housing for all
2. Jobs for every person in each household
3. 24/7 water, toilet, medical facilities

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

MRl HNEAL 24 N 2022 1 oy @y s D 7
1. e M2 W

2. HRels eds WA s

3. 24[7 well, ey, dellell YR

(A) &5d 1 wiA 2 (B) §5d 2 24 3
(C) &5d 1 = 3 (D) GuAsd ol o

79  Consider the following statements regarding Swatch Bharat Mission.

1. It will be implemented all over India through the Ministry of drinking
water and sanitation.

2. It aims to make India free of open defecation by 22d Qctober 2022.
Which of the statements given above are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

WA Mied B Aeoldi A0 Ru-d 2R,

Lo dell 2t wuvil Middl Rll dny 6L Haudd gl s wiad)

2. i Bt 29 205242 2022 YL SR el DR oy 54

2dl,
Guz slal s R 3y 87
(A) &5d 1 (B) &5d 2
(C) 1w+ 2 61 (D) el 25 yo .
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80 Find incorrect pairs

81

82

CSSC-GS-1-PK1-2015_C

(A) Indira Awas Yojana - Ministry of Rural Development

(B) Sansad Adarsh Gram Yojana : Ministry of Panchayati Raj
(C) Both (A) and (B) are matched correctly

(D) Both (A) and (B) are matched incorrectly.

wig A A

(A) S-€l s - : aele Qs Hued

(B) due wued wn P dadl Ay Hual

(€) GUAsd (A) 21\ (B) oA Aesi i B.

(D) GUASA (A) 1 (B) oA sl wel 8.

Find correct statements about various sectors of Indian economy.

1. Service sector is the second largest source of employment after
Agriculture.

2. Industrial sector is the second largest source of India’s GDP after
Service sector.

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above

ouadly wildett R ReuadHl suodl s Rl w8 7

1 Adl o ulR Ao oflg Al Wg Awudl wug A 8.

2. uffa Aat ous »elPLs &~ MR-l GDP M oflefl 2l WA @l 8.

(A) &5d 1 (B) &5d 2
(©) 1 21 2 64 D) oMl As we R

SLR holding of banks includes
(A) Government securities

(C) (A) and (B) both

85 gL wmei wude SLR wl AUl s w0d 8 7

A) wwsdl RRA B) Aq
©) (A) A (B) 41 (D) 6Gudsd As we R
37 [PT0.

(B) Gold
(D) None of the above
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83 Consider following statements :

1. In Summit style diplomacy, the heads of the government of two
countries meet face to face to resolve bilateral issues.

2. 242 diplomacy involves dialogue between foreign and finance
secretaries of two countries.

Correct statements are :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 correct (D) Neither 1 nor 2 is correct

A Rl a5l

1. wflz e gelfnl, & 3u-il qad - sellA Gual yaii

G3d 8.
2. 242 gl ol el Rz »iA R yfq vl w2 w4 8.
A RAy- 8 -
(A) &5d 1 (B) &5d 2
(C) 1 24 2 ¢4 (D) GuAsd s w8l AR

84 Which among the following statements about regional groupings is wrong?
1. Except Irag, All Arab states of Persian Gulf are members of Gulf %
Cooperation Council (GCC).

2. Both India and Pakistan are accepted as full time members of
Shanghai Cooperation Organization (SCO) as members in 2015.

Incorrect statements are: %
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

@

0y Yo Azoll AA-w sa Rl we 8 ?

1. Sus Raw, uffdq vl st % 2R tu des  Sl-wluiad
516 uarL el 8.

2. @lRd 3 WRRAAA 2015 Hl WS A-2luuq AAuSHuq-u ga
aAfH doy ddly waledll uf 8.

w2l Ry s 8 7

(A) 85d 1 (B) &5d 2
(C) 1 31 2 64 (D) GUAsd 25 yeL [
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85  Which of the following is incorrectly paired?

(A) Hand in Hand : Joint Military exercise between India and China.
(B)

“One belt one road” initiative : China to build transport corridor from
Pacific Coast to Baltic Sea

(C) Asian Pivot : USA to deploy majority of its armed forces under
Atlantic Command to contain China.

(D) None of above
TRAiell 8 g g @ ?
(A) 8=3-6-87 @ o w1 A4 a2 yse A4 oUR

(B) at-flee-a--s uea : At g WRRs azdl culRes us Yl uRas-t
AR

(©) ARYA-F2 : ) 2y Asan qS wARs A+ ey A Hear-dls
s 1A aiqal HidL 8.

(D) GuAsd wsysL <R

86 With respect to the 131" Pravasi Bharatiya Divas in 2015, which of the
following statements are correct ?

1. Tt marked the 100® year of Mahatma Gandhi’s return to India from

South Affica.
2. It was inaugurated in Mumbai.
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above

13 warll ouadly Rau deebi QA su Rl wa @ 7
1wy ad Maien ol u6u @Rl MR R §2aru 100 a¥ ysl
U

2. ad Grued jasul uf ed.

(A) &5 1 (B) &5d 2
€) 1 @ 2 84 D) GuAsariefl isve -
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87 India has signed civil nuclear agreement with which of the following
nations?

1. Japan

2. Mongolia

3. Australia

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
MR 54l 2l AN WARS MR KRR 54l B 7

1. eu

2. Ry

3. »Rglay

(A) &5d 1 @14 2 (B) &5d 2 ¥4 3
(C) &5d 1 w4 3 (D) »ula U4 oui ¥

88 Consider following statements about parliamentary Committees :

1. There are two types of parliamentary Committees : Standing Committees
and Ad-hoc Committees.

2. Estimates Committees, Public Accounts Committee and Committee
on Public Undertaking are examples of Standing Committees on

financial matters.
Correct statements are:
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

duely ubilau deoldl A4 R s ¢
Lo A usiel Judl AR Q4 B - R sBid) wd wpel] spyd)

2. N2 ubila, nd vl ABMR > WA ey ARBR
Ryl wadl o sBida) &, o T

Al R s 8 ?
(A) &5d 1 (B) &5d 2
(C) 1 &4 2 ¢+ (D) GuAsd As yg 4y
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89

Which of the following pairs are incorrectly matched?
1. nd g
122" Amendment bill : Creation of National Judicial Appointment

Commission,
2. 121! Amendment bill : Goods and Services tax.
(A) Only 1 (B) Only 2
(C) Both of them (D) None of them

Al & gy Wig @7

Lo 1222 iR M @ Audg oydallug Ads-2i-2 sty as
2. 1210 yuR Bra : oo A Akl R

(A) &5d 1 (B) &% 2

(C) 1 24 2 o4 (D) GuAsd s vl -

The Article 371] provides for :

1. Reservation to persons from Hyderabad-Karnataka region in their
educational institutes and Government jobs.

2. Govemor of Telangana is given additional powers for Development
of Telangana-Vishakhapatnam region.

Correct statements are:

(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
»dlsa 371-% :

[ Qeueue-selles RrdR- A8l W2 AaRs 27 sl sl 20401

2 ddousil e Qéou-i-Raing - Rirdi- s w2 aqiu-dl

L uuact 2udl 8.

aal R 9 ¢
(B) &5d 2

D) Gudsd A s ww 8

(A) &5 1
© 122 8
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91 Consider the following statements about state legislature :

1. Parliament can create or abolish legislative council, if such proposal
is supported by resolution of the Legislative Assembly concerned.

2. Legislative council members strength comprises of not more than 1/
31 of the total members in the Legislative Assembly.

Correct statements are :

(A) Only 1 B) Only 2

(C) Both 1 and 2 . (D) Neither 1 nor 2
AR Raeu @ddl QA Rued dwsi

1. due Rt wRve oudl ueL ud 8 wA wudly uel s3 wk B,
¥l 41 @dl sua -l RmA Aeml wRkd 2da .

2. [Pt wRveeu aedldl Ava e ga wedl- 1/3 oot sl

QY < & ud.
AR R 8
(A) &5d 1 (B) &5d 2
(€) 134 2 84 (D) Gudsd A5 u= -8

92 Governor should reserve which of the following bills for consideration of
the President ? :

1. Compulsory acquisition of property

2. Taxes on sale of water or electricity in Inter-state River
3. River valley Development project

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 D) All of them

QA-uxiell sut B 2adz ARR-el Adk w2 Wsdl Wl B ?

1. Masdd slruid Aue-
2. wid-uad el well »a el due 4 s

3. «dl-ud wRdlw-u

(A) §5d 1 21 2 (B) &5t 2 A 3
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93

94

Part 9-A of the Constitut; ; : ,
stitution provides for which of the following type of
Urban local bodies? i

.~ Nagar Panchayat for areas in transition from rural to urban region

2. Municipal council for smaller urban areas

3. Municipal corporation for large urban areas

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

AR ML 9t sy wsial wddl 2eufis el YR 20l B ?
Lo R damddl Al Rraidl 3 & seudl addl dre e 53 0 8.
2. A Al Rrdar w2 yMRve s6Re

3. W2 uddl Rrawr W2 yMRve ARas

(A) &5d 1 2R 2 (B) &5 2 A 3

(C) &5d 1 »i4 3 (D) 2la U4 o4 »

‘Nai Roshni’ scheme was recently in news is -
(A) For leadership development of minorities women

(B) To bring down school drop outs and improve employment for
minorities
(C) Financial assistance to minorities studying in India only

(D) To generate means of better livelihood for marginalized minorities
and bring them in the mainstream

q Au-dl’ Dol dFddl AURAAHL B ¥ -
(A) aa*t;:[l Jaiefl wlsadl ®e Aged Mel $2ql
-6 280 sl 2 gl Axudl yural

(B)
(C) ™RdML ¥ ™8l agpdl Rranela) w2 Rdy asw

O) agudlia wdl suaplast WS Hee 5T dHA Yo el el na
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95  Find incorrect pairs of Country vs. elements borrowed in Indian Constitution.
1. Ireland : suspension of fundamental rights during emergency
2. Japan : procedure established by law
3. Germany : directive principles of state policy
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
2a » eiRdly suredl 6l dldd wlaq Rssridl WG £ 8 7
I d= @ 558 sl Yaeid 2UMs ARl 59 didld
2. WA sEL R MBI RNA
3. ol : wudlf-u woleds Rigidl
(A) &5d 1 ¥4 2 (B) &5d 2 ¥ 3
(C) &5d 1 #1 3 @) wula A4 au %

96 Find correct pairs :

(A) SK Dhar commission : reorganization of states should be done on
both Administrative and linguistic convenience

(B) JVP Committee : reorganization of states should be done only on
linguistic convenience

(C) Both (A) and (B)

(D) Neither (A) nor (B)

AL AN3st W)

(A) 2RULEHR YA A yotsd A NARBS ¥ oy MR R
59 A,

@) ¥l B - Ay Yotst A a5 SN BUYR Y3 % 59
oL,

(C) (A) @ (B) 4
D) (A) 1 (B) ¥idl MAsyel R
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97 A person with OCI card -
1. Gets lifelong visa to India
2. Gets all privileges available to NRI

3. Needs to register with local police-station each 3 months, while
staying in India

Which of the above statement(s) is/are correct?

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) None of them
OCI 5§ quqdt A4l -

. @audd ¥l ourdly [an 44 .
2.  NRI4 M4Adl o4 % &5 44 B,
3. % dal oRaMi wdl iy dl gz A% e 2ls ddly sadsl

Wrgu 59 W3,
Gudsa WA sy/sui (R wdfai 87
(A) §5d 1 @1 2 (B) 854 2 w3
(C) &5d 1 @i+ 3 (D) GMAsd @5 wa e

98 Find incorrect statement(s) about Right to Information Act :

1. It provides for one chief information commissioner and not more than
5 information commissioners.

2 It was enacted in 2005.

3. It permits of reappointment of chief information commissioner (CIC)
for maximum two terms.

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) None of them
wiladl »fsi- stuent @tdl 42 W s Raed vz 8 7

1. ol sael yrd o5 o ifedl sfaq w1 qgdl ay via suledl
sl Ao sl 8.

2wl HUEL 200541 HUqUML U2l edl.
3wt ety e sledl sz | yea 3l yuleigs 4 o

6.
(A) 8§54 1 @it 2 (B) &5d 2 i 3
(C) %54 1 2 3 (D) Guilsd 315 you e
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99 Consider following statements about official languages of India :

1.  Governor can prescribe High Courts to deliver decrees and judgments
in vernacular languages.

2. Gujarati is one of the official state languages of Goa.
Correct statements are :

- (A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
AriaiR MM @l AL Rl s ¢

1. wrwd 3 qdl-vgidd d-l Ysiel i gl » wells el
wiyal sl b 8,

2. orudl B allar sl Ariar el sls 8.
AR Ry sy 8 ?

(A) &5d 1 (B) &5 2

(C) 1 w2 6l (D) GuAsd 215 el -l

100 Consider following statements about All India services :

1. We have only 3 All India services : IAS, IPS and IFoS (Forest
services)

2.  Article 312 empowers the parliament to create new All India services.

Recently, Green law panel recommended to government to create a
new All India service named “India environment service”.

Correct statements are -

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) All of them

e MRl Awi-u desldl (A s Ra-d wal 8 ?

1. e eiRdld Al §5d 2481 % B : IAS, IPS, [FoS (Forest Services)

2. e 312 e Al vl R A 4% s+ A 200

8.

3. Al Al-dl U4d AsRA Al MRl Yulae Al @]
aarel 9.

w2l R 8 ¢

(A) &5 1 ¥ 2 (B) &5d 2 ®i 3

€) &5 1 ¥ 3 D) »wle A4 o ¥
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